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RERNRE SH6F ERBTBRARE

% R B - RRSTiE B % B B ff & i) m o=
ERNEE 8,311,008
KERE 8,311,008
KERE 8,311,008
KEHRE 8, 243, 560
REER 328,102
1 REER 1.00 232, 603 232, 603
=
2 HAMIER 1.00 95, 499 95, 499
=
FERE 230, 307
3 BE 1.00 68,192 68, 192
=
4 ERECEL) 5.00 32,423 162, 115
=
KEHRAE 4,518, 258
5 £RK ®fE 115. 00 34,934 4,017,410
=
6 AhER 1.00 500, 848 500, 848
=
AT 1,372, 065
T SHrER 1.00 1,372,065 1,372,065
=
S 1,628,928
8 MEEMEM 1.00 1,628,928 1,628,928
=




RERNRE SH6F ERBTBRARE

% R R - RARSTiE BfL % 8 B ® # m o=

& - mE 165, 900

9 EATHE 1.00 96, 600 96, 600
=]

10 HR|E 1.00 69, 300 69, 300
=]

BEERE 67, 448

S 62, 000

1 EBHER 1.00 62, 000 62, 000
=

k& 5,448

12 f’#& 1.00 5, 448 5,448
=




LEEES SR RS

% g R - KSR Bifr B 2 B i & B W =
EENEE 6, 682, 080
HEHE 5,310,015 x 70.8% — 1,570 3,757,920
AEEEE 6,682,080 + 3,757,920 10, 440, 000
E R 1,612,800 + 16,128 1,628,928
EEAGE 1,612,800
BEiEEE 16,128
T DR 1,612,800 x 53.85% ( 35% <+ (1 — 35%) ) 868, 492
BRI 1,628,928 + 868, 492 2,497,420
—REERF 2,497,420 x 53.85% ( 35% = (1 — 35%) ) — 2,280 1,342,580
AEREHE 2,497,420 + 1,342,580 3,840, 000
BB E TS 10, 440,000 + 3, 840, 000 14, 280, 000
HETR SR L 14,280,000 x 10.00% 1,428,000
BEXHE 14,280,000 + 1,428, 000 15, 708, 000




Bffik-fEI/\vr—>

THOFERBERREAE

&5 1
& RAEERE 1LY
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 1.50 54, 600. 00 81,900
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 0.50 34, 600. 00 17, 300
MR 2D %
% 1.00 230, 300. 00 2,303
& Hi 1YE%HeH - 1.00K 232, 603. 00 232, 603
HRRES VY 1 MBS (o) :1.65 MmBEHARE (B) :1.20
&5 .2
B HAIERR 1LY
2 b g - BIRTE By = BHO(f %8 W E " =
BIEHEE
A 2.00 25,900. 00 51,800
FSvo 2t
B 1.50 28, 503. 00 42,754
M 2D %
% 1.00 94, 554. 00 945
& Hi 1E%HeH - 1.00K 95, 499. 00 95, 499
HRARES VY 1 MBS (o) :1.65 MmBEMARE (B) :1.20




Bffik-fEI/\vr—>

THOFERBERREAE

E#5:3
2 BE 1XEY
2 b g - BIRTE By = B ] W = " =
REBHE 54 kY 2
H 0.20 3, 360. 00 672
RiE M FRP D 70PSZ%! 3.0t
H 0.50 78, 250. 00 39,125
BIEFEHEM
A 0.20 54, 600. 00 10, 920
RIS HRER
A 0.20 47,100. 00 9,420
Bl S H A
A 0.20 36, 900. 00 7,380
MR 2D %
% 1.00 67,517.00 675
& Hi 1EZBER - 1.00 68, 192. 00 68, 192
HRRES VY 1 MBS (o) :1.65 MmBEMARE (B) :1.20
BS54
&% EREGEL) 1B34Y (6#1R)
2 b g - BIRTE By = B ) W E " =
REBHE 54 kY 2
H 1.00 3, 360. 00 3,360
BIEf FRP D 70PSZ!
H 1.00 80, 637. 00 80, 637
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
GNSS:AIfI £ & DGNSS
H 1.00 25,575.00 25,575
MR £ NOY)
% 0.50 193, 572. 00 967
& Hi {EZBEA : 6. 00t s 32,423.00 194, 539
HRARHES VY 1 MBS (o) :1.65 MmBEMARE (B) :1.20




BfR-BEI/ \vr—>

THOFERBERREAE

ES:5
&% BK M 1BEY (7.5 5)
2 b g - BIRTE By = B ) W = " =
b3 S4 kR 2L
B 1.00 3, 360. 00 3, 360
SREM FRP D 70PSZ%! 3.0t
B 1.00 87,081.00 87,081
RIS HRER %=
A 1.00 51, 700. 00 51, 700
B S B Eh#H %=
A 1.00 40, 510. 00 40, 510
BEENF ®E
A 2.00 38, 380. 00 76, 760
MR 2D %
% 1.00 259,411.00 2,594
& Hi 1YE%HED : 7.50 5 34,934. 00 262, 005
HRRES VY 1 ARG (o) 1.6 MmBEMARE (B) :1.20
ES .6
& HEER 1XEY
2 b g - BIRTE By = B ) W E " =
B S B Eh#H
A 11.50 36, 900. 00 424, 350
b3 S4 kR 2L
B 11.50 6, 652. 00 76, 498
& Hi 1E%HeH - 1.00K 500, 848. 00 500, 848
HRARES VY 1 MBS (o) :1.65 MmBEMARE (B) :1.20




Bffik-fEI/\vr—>

THOFERBERREAE

&5:7
B DHTER
2 b g - BIRTE By o = B ® W = " =
FlEYEE (SS)
B®IK 345.00 1,710.00 589, 950
KEFEAFVRE (pH)
B®IK 345.00 517.00 178, 365
BEE%= (D0)
B®IK 345.00 1, 750. 00 603, 750
& Hi 1YE%HeH - 1.00K 1, 372, 065. 00 1,372, 065
HRRES VY 1 MBS (o) :1.65 MmBEMARE (B) :1.20
&5 :8
25 MESERK
2 b g - BIRTE By H = B ® W E " =
FEHER
A 1.00 64, 800. 00 64, 800
HEm (B)
A 15. 00 47, 200. 00 708, 000
g
A 25.00 33, 600. 00 840, 000
EXERARE EEAMEDY
% 1.00 1,612, 800. 00 16,128
& Hi 1E%HeH - 1.00K 1, 628, 928. 00 1,628, 928
HRARES VY 1 MBS (o) :1.65 MmBEMARE (B) :1.20
&5 :9
& BRRE
2 b g - BIRTE By H = B ® % W E " =
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 0.50 47,100. 00 23, 550
Bl S H A
A 0.50 36, 900. 00 18, 450
& Hi 1YEZHEH - 1.00[E 96, 600. 00 96, 600

HARKS VY 1

ARGt ARE (o) :1.65

mEHAERYE (8) :1.20




BfR-BEI/ \vr—>

THEERIBEBIRERE

&5 :10
£ EW|E HEED
£ b g - BIRTE BT = B O %8 W = " =
BIEFEHEM
A 0.50 54, 600. 00 217,300
RIS HRER
A 0.50 47,100. 00 23, 550
B S B Eh#H
A 0.50 36, 900. 00 18, 450
& Hi 69, 300. 00 69, 300
HARES VY 1 MERERE (o) MmBEMARE (B) :1.20
&5 11
2% EBHRRA 1LY
£ b g - BIRTE BT = B O %8 W E " =
EBEHRMAE
= 1.00 62, 000. 00 62, 000
& Hi 62, 000. 00 62, 000
HARES VY 1 MERERE (o) MmBEHARE (B) :1.20
5 :12
&% kB Bl
£ b g - BIRTE BT = B Ol %8 W E " =
i3
= 1.00 5, 448.00 5, 448
& Hi 5, 448.00 5, 448

HARKS VY 1

AR (@)

mEHARE (8) :1.20




